External Turning Tool

Wi Coolamnt SME L KERT]

28=-ES AEE F7]




7 - E IR AR

LY
ERWESENUHRRE KB®mssEst
BEREBEENBEE

W Type HIIEET]
EHIREER

|

I&EAT\LIIVERT )

o0JIF0)E
00 BIRB AL N -
o) BIRMEE S6E28 4

D1



1V sME ke

5. )] Tool Holder With Coolant

DDJN

Stock #I%%E Model No. A B H F L /IR
Insert
° DDJNR/L-A2020K-16 20 20 20 25 125
DN1604
° DDJNR/L-A2525M-16 25 25 25 32 150
o JEffo: JEFRHE A7 GRS & 1)
B Tool Parts :
0 | & m) W —
8 HCVEE AR LERAS HE | ORI | &RF
Shim Shim Screw Clamp Clamp Screw | Spring | O-ring | Wrench
L2.5
DMS442 DDSM4 DDPSE-2916 DS625 SP85 3X1 13,0

D2



1V sME ke

5. )] Tool Holder With Coolant

Stock #I%%E Model No. A B H F L /IR
Insert
° DVVNN-A2020K-16 20 20 20 10 125
VN1604
[ DVVNN-A2525M-16 25 25 25 12.5 150
@577 InStock o JEFEFEAEEAF GEMERY AC B 1) Non-standard Stock
B Tool Parts :
m| Ll ) W @) —
B HCVEE AR LERAS HE | ORI | &RF
Shim Shim Screw Clamp Clamp Screw | Spring | O-ring | Wrench
L2.5
GMV322 DVSM4 DVPSE-3214 DS625 SP85 3X1 13,0

D3




1V sME ke

5. )] Tool Holder With Coolant

Stock #I%%E Model No. A B H F L /IR
Insert
° DVVNR/L-A2020K-16 20 20 20 15 125
VN1604
° DVVNR/L-A2525M-16 25 25 25 20 150
®.FE(F InStock o FFFEAEE{F(GEMERAC & HA) Non-standard Stock
Ec{& Tool Parts :
m| Ll ) W @) —
B HCVEE AR LERAS HE | OFIR | KT
Shim Shim Screw Clamp Clamp Screw | Spring | O-ring | Wrench
L2.5
GMV322 DVSM4 DVPSE-3214 DS625 SP85 3X1 13,0

D4




Zy A% 7K B2 T Tool Holder With Coolant

DVJN

Stock # 58 Model No. A B=H H F L IR
Insert
) DVJNR/L-A2020K-16 20 20 20 25 125
VN1604
) DVJNR/L-A2525M-16 25 25 25 32 150
®.FE(F InStock o FFFEAEE{F(GEMERAC & HA) Non-standard Stock
B Tool Parts :
| Ll i) W @) —
8 HOEE AR LERAS HE | ORI | &RF
Shim Shim Screw Clamp Clamp Screw | Spring | O-ring | Wrench
L2.5
GMV322 DVSM4 DVPSE-3214 DS625 SP8bH 3X1 130

D5



LY AMEHIKE

H. /) Tool Holder With Coolant

WCENN

| B g = | e
Stock | Z45E Model No. A | B= F L A Hrub AR wRF
W ZURR AR 4H Insert
Shim | Shim Screw Wrench
W Type Clamp
® | WCENN-A2020K-12 | 20 | 20 | 10 | 125 13.0
CMS422 LCS-618A WCPSE-2516A CN1204
® | WCENN-A2525M-12 | 25 | 25 | 12.5 | 150 L4.0
®.FE{F InStock o FFFEAEE{FGEMERIAC & HA) Non-standard Stock
WCENN-A100
| E’ S
Stock Model No. A B= F L o] L
oc 5. Model No F RO W A 4L wRF Insert
Shim Shim Screw Wrench
W Type Clamp
® | WCENN-A2020K-12-A100 | 20 | 20 | 10 | 125 13.0
CMS422 LCS-618A WCPSE-2516A CN1204
® | WICENN-A2020K-12-A100 | 25 | 25 | 12.5 | 150 L4.0
@ FE{F InStock o FJFfEAEEIF(GEREZIAZ & HA) Non-standard Stock

D6




LY AMEHIKE

H. /) Tool Holder With Coolant

WCLN

= umi I e

Stock #U%E Model No. A |BsH| F L A Hrub AR wRF
. . W EI B R 4H Insert

Shim | Shim Screw Wrench

W Type Clamp

® | WCLNR/L-A2020K-12 | 20 | 20 | 25 | 125 130
CMS422 LCS-618A WCPSE-2516A CN1204

® | WCINR/L-A2525M-12 | 25 | 25 | 32 | 150 L4.0

®.FE(F InStock o FFFEAEE{F(GEMERIAC & HA) Non-standard Stock

D7




LY AMEHIKE

H. /) Tool Holder With Coolant

m| g =0
Stock | ZU%E Model No. A | B= F L B AR wRF
W BRI BRA 4H Insert
Shim | Shim Screw Wrench
W Type Clamp
® | WIENN-A2020K-16 | 20 | 20 | 10 | 125 19 5
TMS322 | LCS-519-1A | WIPSE-2115A TN1604
® | WIENN-A2525M-16 | 25 | 25 | 12.5 | 150 L4.0
o 17 InStock o JEFEFEAEEAF EEMERY S &) Non-standard Stock
= mm i R e
Stock Model No. A | B=H F L L
oc 5. Model No E-Ya0 RO W A 4L wF Insert
Shim Shim Screw Wrench
W Type Clamp
® | WIJNR/L-A2020K-16 | 20 | 20 | 25 | 125 19 5
TMS322 | LCS-519-1A | WIPSE-2115A TN1604
® | WIJNR/L-A2525M-16 | 25 | 25 | 32 | 150 L4.0
@ FE{F InStock o FFFEAEE(F(GEMERAC & HA) Non-standard Stock

D8




LY AMEHIKE

H. /) Tool Holder With Coolant

WTQN

| B g =0
Stock #U%E Model No. A |B=H| F L A AR wF
W EI B R 4H Insert
Shim | Shim Screw Wrench
W Type Clamp
® | WIQNR/L-A2020K-16 | 20 | 20 | 25 | 125 19 5
TMS322 | LCS-519-1A | WTPSE-2115A TN1604
® | WIQNR/L-A2525M-16 | 25 | 25 | 32 | 150 L4.0
®.FE{F InStock o FFFEAEE{FGEMERIAC & HA) Non-standard Stock

D9




LY AMEHIKE

H. /) Tool Holder With Coolant

wop | § |
Stock #I%%E Model No. A | B= F L EY3 D wFE T
i Shim W 4B 4R Insert
Shim Wrench
Screw | W Type Clamp
) WWLNR/L-A2020K-08 | 20 20 25 | 125 L3.0
WMS432 | LCS—618A | WWPSE-2316A WNOS04
® | WWLNR/L-A2525M-08 | 25 | 25 | 32 | 150 L4.0
®.FE{F InStock o FFFEMEE{FGEMERIAC & HA) Non-standard Stock

D10




1V sME ke

H. /) Tool Holder With Coolant

—

i

i
L |
U TR
Stock 71 %8 Model No. F A |B=H| L
" W2 ik HF | Insert
Screw Wrench
SDJCR/L-A2020K-11 | 25 | 20 | 20 | 125
M4x8.8x5.4 | T15 | DC11T3
SDJCR/L-A2525M-11 | 32 | 25 | 25 | 150

@77 InStock o JFfEMEEIECGERETIAT S

HH) Non-standard Stock

SDQC

% yikay
Stock | %98 Model No. F A |B=H| L
e 1244 RF Insert
Screw Wrench
0 SDQCR/L-A2020K-11 | 25 | 20 | 20 | 125
M4x8. 8x5. 4 T15 DC11T3
SDQCR/L-A2525M-11 | 32 | 25 | 25 | 150

®:E77 InStock  O:JFFEAEE{E (SEHETI AT K

D11

HH) Non-standard Stock




LY AMEHIKE

H. /) Tool Holder With Coolant

SVJB

L

1

A
ly—

<o~ [l LU R
Stock| Z4%E Model No. F | A |BsH| L
g} | BFIEA PR 4% H®F |Insert
Shim |Shim Screw Screw Wrench
SVJBR/L-A2020K-16| 25 | 20 | 20 | 125 T15
VSS322 | MDS5035A |M3. 5x11. 4x5.7 VB1604
SVJBR/L-A2525M-16| 32 | 25 | 25 | 150 L:3.5
@ FE{F InStock o FFEAEE{F(GEMERIAC & HA) Non-standard Stock
SVUB
Stock| %% Model No. F | A |BH| L
B} | BB BRAR ’®F |Insert
Shim [Shim Screw Screw Wrench
SVUBR/L-A2020K-16| 32 | 20 | 20 | 125 T15
VSS322 | MDS5035A |[M3. 5x11. 4x5.7 VB1604
SVUBR/L-A2525M-16| 37 | 25 | 25 | 150 L:3.5
®:F(F In Stock  o:IFFEEAEELF(FETERL < & HH) Non-standard Stock

D12




ZY A& H 7K B T Tool Holder With Coolant

SVVB TH=1/8"PF
'—.—-'

LU L

Stock #1588 Model No. F A |BsH| L
" BR4A ]’F | Insert
Screw Wrench
SVVBN-A1212H-11 §) 12 12 | 100
M2. 5x6. 0x3. 6 T8 VB1103

SVVBN-A1616H-11 8 16 16 | 100
@ FE(F In Stock o FFEEE{F(GEMERIAC & HA) Non-standard Stock

SVVC TH=1/8'PF

(@ —a
Stock 148 Model No F A |[B=H| L 2
- 1244 ®F | Insert
Screw Wrench
° SVVCN-A1212H-11 6 12 12 | 100
M2. 5x6. 0x3. 6 T8 VC1103
SVVCN-A1616H-11 8 16 16 | 100

@5 InStock o FFFEAEE{F(GEMERAC & HA) Non-standard Stock

D13




LY AMEHIKE

H. /) Tool Holder With Coolant

SVJC

L4

ly—

<o~ [l my 7T
Stock| ZI%E Model No. F A |B=H| L
;| BB BRAR WF |Insert
Shim |Shim Screw Screw Wrench
SVJCR/L-A2020K-16A | 25 | 20 | 20 | 125 T15
VSS322 | MDS5035A |M3. 5x11.4x5.7 VC1604
SVJCR/L-A2525M-16A | 32 | 25 | 25 | 150 L:3.5
@ FE{F InStock o FFEAEE{F(GEMERIAC & HA) Non-standard Stock
SVUC E[
L !
Stock| %% Model No. F | A |BH| L
B}p | BIRA BRAR ®F |Insert
Shim [Shim Screw Screw Wrench
SVUCR/L-A2020K-16| 32 | 20 | 20 | 125 T15
VSS322 | MDS5035A |M3. 5x11. 4x5.7 VC1604
SVUCR/L-A2525M-16| 37 | 25 | 25 | 150 L:3.5
®:F(F In Stock  o:IFFEEAEELF(FETERL < & HH) Non-standard Stock

D14




Tool Holder With Coolant
For Automatic Lathes

Stock #1 %8 Model No. F A B= L T
Insert
e IMTJ2NR/L-A1616K-16 16 16 16 125 VN1604

@17 In Stock o FFFEAEEIF(GEMERLAC & HA) Non-standard Stock

Ecf4 Tool Parts -

| ] (i -
Bh STy 197 EETHIRR BT
Shim Shim Screw Clamp Clamp Screw | Wrench
L2.0
L2.5

TMS322 LCS-513A | DVPSE-3214 DS625

D15




S e S RS2

Tool Holder With Coolant
For Automatic Lathes

ZSDJ2CR

( B — ) Fig-1 Fig-1 Fig-1

TH=1/8'PF

(@ -
Stock #U5E Model No E F A B L 2l
" ’ Fig BB A4 ]®F | Insert
Screw Wrench
(] 7ZSDJ2CR/L-A1212K-11 1 10 12 12 | 125
M4x8. 8x5. 4 T15 DC11T3
(] 7ZSDJ2CR/L-A1616K-11 2 14 16 16 | 125
@517 InStock o JFIFEAEE(F FEHETY AC & /) Non-standard Stock

D16




4% L = 71 \ — Tool Holder With Coolant
Zy ﬁl\ﬁ'(: L 7KE§‘73 %/LD:E For Automatic Lathes

( B — ) Fig-1 Fig-1 Fig-1

ZSV]J2BR/CR

TH=1/8'PF

(@ — ) Fig2

TH=1/8'PF

s & w O | 7 a3
Stock Model No. . F A B L
" Fig B4R wF Insert
Screw Wrench
° ZSVJ2BR-A1212K-11 1 10 12 12 | 125
M2. 5x6. 0x3. 6 T8 VB1103
° ZSVJ2BR-A1616K-11 2 14 16 16 | 125
° ZSVJ2CR-A1212K-11 1 10 12 12 | 125
M2. 5x6. 0x3. 6 T8 VC1103
° ZSVJ2CR-A1616K-11 2 14 16 16 | 125
@ E1F InStock o FFFEAEEE{FE(GEMERIAC & HA) Non-standard Stock

D17




LY AMEHIKE

S e S RS2

Tool Holder With Coolant
For Automatic Lathes

ZSVJ2BR/CR TH=1/8"PF
o [ o
4££j;7 “M] @@ﬂ@ ==j:r
Stock #1358 Model No. F | A |BsH| L | 85 |#H51EL% 24
. ) 243 ]®F | Insert
Shim Shim
Screw Wrench
Screw
° ZSVJ2BR/L-A1616K-16AL | 16 | 16 | 16 [ 125 VB1604
VSS322 M5 M3. 5x11.4x5.7| T15
° ZSVJ2CR/L-A1616K-16AL | 16 | 16 | 16 [ 125 VC1604
®:[fE{F In Stock  o:FFFEAE[ELF (GERESIZC & HH) Non-standard Stock

D18




Zy MK 7K 8 7] External Grooving With Coolant

ZTER/L-KORLOY

Stock — —/

. . 722 Model No. A B=H| F | L | T | T-Max i R
Screw Wrench

° ® |7TER/L-A2020K-MG2-14 (20 | 20 | 20 | 125 14 HTM6x20L

° ® |7TER/L-A2020K-MG2-18 (20 | 20 | 20 | 125 2 18 HTM6x20L

° ® |7TER/L-A2525M-MG2-14 (25 | 25 | 25 | 150 0 14 HTM6x25L L0

° ® |7TER/L-A2525M-MG2-18 (25 | 25 | 25 | 150 18 HTM6x25L

° ® |7TER/L-A2020K-MG3-20 (20 | 20 | 20 | 125 20 HTM6x20L

° O | ZTER/L-A2525M-MG3-10| 25| 25 | 25 | 150 | 3 10 HTM6x25L | L5.0

° ® | ZTER/L-A2525M-MG3-20| 25 | 25 | 25 | 150 20 HTM6x25L

° ® |7TER/L-A2020K-MG4-20 (20 | 20 | 20 | 125 A 20 HTM6x20L 5.0

° ® |7TER/L-A2525M-MG4-20 (25 | 25 | 25 | 150 20 HTM6x25L

o) O |ZTER/L-A2020K-MG5-25 (20 | 20 | 20 | 125 25 HTM6x20L

° ® | ZTER/L-A2525M-MG5-25|25 | 25 | 25 | 150 ° 25 HTM6x25L L-0

@5 InStock o FFFEAEE{F(GEMERAC & HA) Non-standard Stock
JIH Insert : KORLOY

MG2= MGMN200

MG3= MGMN300

MG4= MGMN400

MG5= MGMN500

D19



/ Y AMEH /K VIFE T External Grooving With Coolant

ZTER/L-Taegu Tec

Stock — —

.. #J5%% Model No. A |BsH| F | L | T |T-Max i R
Screw Wrench

® | ® | 7TER/L-A2020K-TD2-17 | 20 [20.1| 20 |125| 2 17 HTM6x20L

® | O | ZTER/L-A2525M-TD2-17 | 25 [25.1| 25 | 150 | 2 17 HTM6x25L

® (O | ZTER/L-A2020K-TD3-20 | 20 |20.3]| 20 |125| 3 | 20 HTM6x20L

® | O | ZTER/L-A2525M-TD3-20 | 25 |25.3| 25 [150 | 3 | 20 HTM6x25L L>-0

® | O | ZTER/L-A2525M-TD4-25 | 25 |25.5| 25 [150 | 4 | 25 HTM6x 16L

® (O ZTER/L-A2525M-TD5-32 | 25 |25.5| 25 | 150 | 5 | 32 HTM6x25L

@ E(F InStock o FFFEAEE{F(GEMERAC & HA) Non-standard Stock
JIH Insert : Taegu Tec

D20




/ Y AMEH /K VIFE T External Grooving With Coolant

ZTER/L-ISCAR

Stock — —

.. EI5% Model No. A |BsH| F | L | T |T-Max i i
Screw Wrench

® | ® | 7TER/L-A2020K-DGN2-17 | 20 | 20 | 20 | 125| 2 17 HTM6x20L

® | ® | 7TER/L-A2525M-DGN2-17 | 25 | 25 | 25 | 150 | 2 17 HTM6x25L

® | ® | 7TER/L-A2020K-DGN3-20 | 20 | 20 | 20 | 125| 3 20 HTM6x20L L0

® | ® | 7TER/L-A2525M-DGN3-20 | 25 | 25 | 25 | 150 | 3 20 HTM6x25L

®:FE{F In Stock  o:FJEEEAEE{F(GEESEAC & HH) Non-standard Stock
JIF Insert : ISCAR

D21




AME H ]
/

EEILEN NG

KUIHE 7]

External Grooving With
Coolant For Automatic Lathes

ZTER/L TH=1/8'PF
1
T-Max [
w _!_ E[ <
: —_ 1
L1
O — |
\/
7
| o
\
- J
Stock @m ]
#U58% Model No. D A |B=H| L L1 | T | T-Max
el R Ak w"F
Screw Wrench
® | ® | 7TER/L-A1010K-MGX20A-10 20 [ 10 10 | 125 | 18 10.5 | M4x12.0x5.6
ZTER/L-A1212K-MGX20A-12. 5| 25 12 12 | 125 |19.5] 2 13 T15
M4x16. 1x5. 4
® | ® | 7TER/L-A1616K-MGX20A-16 32 16 16 | 125 | 25 16.5
®:FE{F In Stock  o:FJFEEAEE{F(GEfEEAC & H) Non-standard Stock
JIR Insert : KORLOY
Stock (I(((((((((@ O
#I %8 Model No. D A |B=H| L | L1 T | T-Max
R|L BR%A ®’RF
Screw Wrench
L I ZTER/L-A1212K-TD2SH-24 24 12 12 | 1251 19 5 12 M4x16. 1x5. 4 15
ZTER/L-A1616K-TD2SH-32 32 16 16 | 125 | 24 16 M4x20. 0x5. 4
@ (¥ InStock o JFfEAEETE(GEIEREAC & HH) Non-standard Stock
JIF Insert : Taegu Tec
Stock (I(((((((([@ O
188 Model No. D A B=H| L L1 T T-Max
R|L BRAR ®’RF
Screw Wrench
ZTER/L-A1212K-DGN2-12. 5 |12.5| 12 12 {125 (19.5 5 12 M4x16. 1x5. 4 15
ZTER/L-A1616K-DGN2-16 16 16 16 | 125 | 25 16 M4x20. 0x5. 4

@5 InStock o FFFEAEE{F(GEMERAC & HA) Non-standard Stock

JIH Insertlnsert

ISCAR

D22




LY hME kS

- J] External Threading With Coolant

SER/L

L
m v S am
Stock | %458 Model No. A B F L F
i BRAR ;A ﬁ% ®F |Insert
im
Screw Shim Wrench
Screw
® |SER/L-A2020K-16| 20 | 20 | 25 | 125 GXE16 T15
M3. 5x11. 4x5. 1 M3 16NR
® |SER/L-A2525M-16| 25 | 25 | 32 | 150 GXN16 L:2.5
@ FE(F In Stock o FFEEE{F(GEMERIAC & HA) Non-standard Stock

D23




Z AME K ZF T
1K

HEfE

External Threading With
Coolant For Automatic Lathes

SER/L

m v S am
Stock | %458 Model No. A B F L £
# BE A% E-0a3 ﬁ% ]®F |Insert
im
Screw Shim Wrench
Screw
® [SER/L-A2020K-16( 20 | 20 [ 25 | 125 GXE16 T15
M3. 5x11. 4x5. 1 M3 16NR
® |SER/L-A2525M-16| 25 | 25 | 32 | 150 GXN16 L:2.5
@ FE(F In Stock o FFEEE{F(GEMERIAC & HA) Non-standard Stock

D24




LY hME kS

- ] External Threading With Coolant

ZTTR/L

L1

Stock #I%%E Model No. A B F L T
Insert
) ZTTR/L-A2020K-22 20 20 25 125 | ..
=2z MTTR436002

) ZTTR/L-A2525M-22 25 25 32 150
@517 In Stock  o:FFIEAEETE (YA & HH) Non-standard Stock

Ecf4 Tool Parts -

—l | 0 mp) i O -

N HE A g qa
AR STV 124 s Spring | O BUER .
Clamp Clamp Screw Screw O0-RING
ZMTK1R/L-E M5x13L M5x25L SP5309 4X1 L3

D25




